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QUESTION 1

Which three aspects can you ascertain by analyzing an orchestration plan in the Order Management Web client?
A. You can find the order items that are associated with each fulfillment function.

B. You can identify the order components that will be executed in parallel.

C. You can identify the order components that will be executed at the beginning of order execution.

D. You can identify the fulfillment mode associated with an order.

E. You can define the dependency conditions between order components.

Correct Answer: ACD

Reference: https://docs.oracle.com/cd/E49155_01/doc.73/e49705/mdl_full_patt.htm#OSMMG612

QUESTION 2

In your OSM implementation, you must send emails to a group of users every time a value is entered in a filed in your
order named "failureReason". Identify the feature that supports this requirement.

A. Data Change Notifications implemented at the Order level

B. Data Change Notifications implemented at the Task level

C. Milestone Event Notifications implemented at the Order level
D. Task-State Event Notifications implemented at the Task level
E. Jeopardy Notifications implemented at the Order level

F. Jeopardy Notifications implemented at the Task level

Correct Answer: B

QUESTION 3

OSM is executing an order with the process indicated in the diagram. Immediately after the completion of TaskD, a
revision is received, which causes only TaskB to be re-evaluated. During the re-execution of TaskB, a significant data
element used by TaskA and TaskD is updated in the order. Which task is reevaluated when the compensation for TaskB
completes?
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Correct Answer: D

QUESTION 4

Which three pieces of advice would you offer a developer who is responsible for configuring the CRM and Middleware
systems that submit revisions to OSM?

A. Use a unique identifier for each order and the same identifier for its revisions.
B. Always submit changes to services already provisioned by using revisions.
C. Have a numeric field that increases its value with every new revision.

D. Revisions should have a distinct message schema from the original order.

E. Always use the same interface when submitting either an order or a revision.

Correct Answer: ABD

QUESTION 5

Your OSM cartridge includes two structures at the same level as your order template:

Customer structure with single cardinality and including information about customer profiles such as customerName,
customerAddress, and customerContact
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Devices structure with multiple cardinality and including information about the physical elements associated with an
order

A new activation system will interact with OSM, requiring a list of devices to activate and a customer profile to be
associated for each device structure.

Which approach would you use to reflect this association in your order data, without causing a big impact on the existing
modeling?

A. At the data schema level, move the Customer structure to be placed inside the Devices structure.

B. At the order template level, modify the Devices structure by creating a child Reference Node to the Customer
structure.

C. At the data schema level, create a new node "CustomerDevice" and include the elements of both Customer and
Devices.

D. Modify the task data of only those tasks that interact with the new activation system by placing the Customer
structure inside the Devices structure.

E. At the data schema level, modify the Devices structure by creating a child Reference Node to the Customer
structure.

Correct Answer: A
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